. COMMON ENTRANCE TEST - 2006

" pATE || sumsEOT s
10-05-2006 | CHEMISTRY 2,30 PM to 3.50 PM

60 80 MINUTES 70 MINUTES

ATV MARKS | TOTAL DURATION. | MAXIMUM TIME FOR ANSWERING

~ MENTION YOUR | " QUESTION BOOKLET DETAILS |
' CETNUMBER | VERSION CODE | SERIAL NUMBER
| || A-1 - | 12225

IMPORTANT INSTRUCTIONS TO CANDIDATES ,
(Candidates are advised to read the following instructions carefully; pefore answering on the OMR answer ghaeL.)
1 Ensure that you hove entered your Name and CET Number on the top portion af the OMI answer sheet.

2 ENSURE THAT THE BAR CODES, TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET
ARE NOT DAMAGED / MUTILATED / SPOILED.

3. This Guestion Booklet i5 izsued to you by the im-_-]gi.lnn:-r after the 27 Bell. e, after 2.35 pm.
Enter the Serial Mumber of this guestion booklet on the top pertion of the i:‘.rlr!l.ﬁ answer sheet. .

5 ° Carefully enter the Version Code of this question booklet en the bittem portion of the OME answer sheet and
. SHADE the respective circle completely. : .

. As angwer gheets are desipned to guit the Optical Mark Reader (OME} system, please take speeiel care while
filling and shading the Version Code of this question booklet.

T. DO NOT FORGET TO SIGN ON BOTH TOP AND BOTTOM PORTION OF OMR ANSWER SHEET IN
THE SPACE PROVIDED.

.B. Until the 3= Bell is rung at 240 p.m. )
® Do nat cemove the staple present on the right hand side of this question booklet.
® Do not ook inside this question booklet.

& [la not start answering on the OMR anewer sheet.

8. After the 3% Bell is rung at 2.40 p.m., remave the staple present on the right hand side of .t.tiiE question booklet |
and start answering on the bottem portion of the OME anzwer shiset.

o

i

10, This question boiklet containg 60 questions and each quastion will have four different aptions / choices.
11.. During the subsequent 70 minwkes ©
* ®  Read each question corefully. : . :
®  Determine the correcl answer from out of the: four available options | ehoices given under each question,
*  Completely darken /shade the refevant circle with a BLUE OR BLACK INK BALLPOINT PEN
against the gquestion number on the OMR answer sheel.

[ CORRECT METHOD OF SHADING THE CIRCLE ON THE OMR SHEET IS AS SHOWN BELOW:

DO0w

12 Please nots that even a minute unintended ink dot an the DR shent will alan be recognised and recorded by the
scanner. Therelore, avoid multiple markings of any kind.

13. Use the space providedl on each page of the guestion Banklet for Rough work AND do not use the OME answer
sheet for the same.” | : , 3

14, After the last bellis rang af 350 p.m., stop writing on the OME answer sheed.
15, Hand over the OMR ANSWER SHEET to the roarm invigilater as it is.

16, After separating and retaining the top sheet (CET Cell Copy), the invigilator will return the bottom sheet replica
_[Cn ndidate’s eopy) bo you o carTy heme for selfi-evaluation, -

17, Preserve the replica of the OMR answer shect for a minimum peried of Ong year.
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CHEMISTRY
Which of the following is not an ore of magnesium ? i
1) Carnallite 2) Dolomite
) Calamine 4} Sea water

The atomic numbers of Ni and Cu.are 26 and 29 respectivély. 'I‘lm_e'lectfma configuration
15 252 2p% 35 3p° 341 represents ' '

1) Cu* 2) Cu*

5 N* _ 4) Ni

In the following, the element with the highest ionisation energy is

1) [Ne)s®3pt 2) [Nelas*sp®
3) [Ne]3s3p® . 4) [Ne]3s*3p?

In the conversion of Br, to BrOy , the oxidation number of Br changes from

1) zeroto+ 5 2 +1to+5
3 zeroto-3 oL 4) +2t0+5 -

Among the alkali metals cesium is the most reactive because
1) its incomplete shell is nearest to the nucleus
9} it has a single electron in the valence shell
3) it is the heaviest alkali metal

4) the outermost electron is more loosely bound than the outermost electron of the
other alkali metals. Ta

{Space for Rough Work)
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._4 ) Al

Which of the following represents the Lewis structure of N, molecule ?

1IN = N2 - 2) 3N = W
3}.::'— x ' 4 N = N

1) §-HeweO 9 O-H—-8§
8) FuHomF 4 O-H—N

The decomposition of a certain mass of CaCl, gave 11.2 drn qu'CI' gas at STP. The rnaaa
of KOH required to completely neutralise ti'pe gas is

1) G6g : 2y My
) 42¢ 4) 20g

The density of a gas is 1.964 g dm™ at 273 k and 76 cm Hg The gas is
1) CH, 2) CyH,
3 o, 4} Xe

- 0.06 mole of KNO, solid is added to 100 exs® of water at 298 k. The enthalpy of KNO,_

solution is 35.8 kJmnl‘ After the solute i is dissolved the temperature of the solution will b&

1) 203k " 2) 298k
3 301k 4) 304k
(Space for Rough Work)
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4 moles each of 80, and O, gases are nllnwen;l to react to form SO, in a closed vcssel At
equilibrium 25 % nl‘ Qs usad up. The total number of meles of all the ga.ses prezent at
equilibrium is ;
1) 65 ) 2 7.0
3 80 4) 2.0
12. An example for autocatalysis is ;
1} oxidation of NO to NO,
2) oxidation of SO, to SO,
3) decomposition of KCIO, to KCl and O,
4} nxldannn of oxalie acid by acidified KMn O,
13. Durmg the fusion of an organic mmpﬂund. with sodium metal, :utrn-gan of the mmpound is
converted into ]
1) NaNO, . 2). NaNHk
3) NaCN ' 4 NaNC
14. 'Identify the product ¥ in the following reaction sequence
CHy -CHy -C00 9
3 heat En-Hg
| £ X —HCT, heat 7
CHy -CHy -CO0
i) pentane . 2} eyelobutane
.3 cyc]apent.n.m: 4} cyclopentanone
15. 'The reantmn CEHu,E}Na +CaHgl — CaHgOCH 5 + Nal iz known as
1) Kolbe's synthesis 2} Wurtz's synthesis
3) Williamson's synthesis : 4) Grignard’s synthesis
{Space for Rough Work)
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17,

18.

19,

20,

6 | . | Al
A° Ve T plot i.n the Ellingham's diagram slopes :!_nwnw.jrd;a- [ut.‘ the reaction
1) Mg +10; > MgO . 2) 24g+10; - Ag0
3) C+10;-»C0 9 C0+10,+C0,

Which of the following reaction taking place in the Blast furnace is enduﬂ:mmic ?
1) CalO3 —CaO+COy 2 2C+0,-+2C0
8 a0 CO ' 4) Fey0; +3C0 = 2Fe+3C0,

Liquor ammonia bottles are opened only after cooling. This is because
1) itis a mild explosive 2) it is a corrosive liquid
3) itis a lachrymatory 4) it generates high vapour pressure

The formation of O [, Fg]~ is the basis for the formation of Xenon fluorides. This is because

1} 0, and Xe have comparable sizes

2) both O, and Xe are gases .

3 Qz and Xe have comparable ionisation energies
4} O, and Xe have ctl:mpﬂ.rﬂh]l? alectronegativities

&

The highest magnetic moment is shown h}' the transition metal ion with the configuration
1) 3q% 2) 345

3 347 i) 3a?

. (Bpace for Rough Work)
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7 . A-l

21. - A transition metal ion exists in itz highest oxidation state. It is expected to behave as

1) achelating dgent : 9) - a central metal in a coordination compound
) an oxidizing agent + 4)  areducing agent

95 [nwhich of the following complex ion, the central metal ion is in a state of sp°d* hybridisation ?

. | 1
' 1) [coFg)” - ) [Co(NH3 )]
3- | ’ 3
3) [Fe(oN)s ] - p [or(vis)]”
23. Which of the fﬁliawingmpaﬂicipatein ]inkngcisuc_r_ugri,sm ? i
T 1) Noy : 2)  H,NCH,CHoNH; '
8) HO 4) :NH; :
24 Which of the following has the highest bond order 7
1 N, 2 0,
3) He, k 4} H,
95. Which of the following is diamagnetic ? '
‘U oBy .2} Oy
3) Lip : 4) Hey'
{Space for Rough Work)
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8 : C A

The concentration of a reactant X decreases from 0.1 M to 0.025 M in 40 minutes. If the
reaction follows I order kineties, the rate of the reaction when the concentration of X is
0.01 M will be ] s :

1) 178 % 10790 mifn™! 2) 347 %10 min!

" 3) 347 %1075 min~L 4} 173 %1079 M min

Chemical reactions with very high E_ valuesare generally .
1) wery fast 2} very slow
3} moderately fast : 4) spontaneous

Which of the following does not conduct electricity ?
1} fused NaCi 3 2) solid NaCf

3) brine solution ; 4). Copper

When a quantity of electricity is passed -through CuS0, solution, 0.16 g of Copper gets

deposited. If the same quantity of electricity is passed through acidulated water, then the
volume nvl!'H2 liberated at STP will be [Given At Wt. Ci = 4]

1) 4.0 em? 2) 56cm’

3 604 cm?® ' ; 0 4) 8.0cm?

Selubility product of a salt AB is 1 x 10 M in a solution in whjch_thje eoncentration of A*
ions is 1'0_“‘ M. The salt will precipitate when the concentration of B ions is kept
" 1) between'107% M to 10°7 M © 2) between 107" Mto 107° M
3 >10°M . C4 <10tM

(Zpace for Rough Work)
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9 ' _ _ - A-1

Which one of the following condition will increase the voltage of the cell represented l;y the .

-equation : Ciig;) + 2Ag g = Cultoq + 24815

1) increase in the dimensions of Cu electrode
9} increase in the dimensions of Ag electrode
2) increase in the concentration of Cu?* fons

4) increase in the concentration of Ag” ions

The pH of 10°* M HC! solution is
1) 8. v 2} “more than 8
3) between 6 and 7 ] 4) slightly more than 7

Thie mass of glucase that should be dissolved in50 g of water in order to produce the same
lowering of vapour pressure as is produced by dissolving 1 g of urea in the same quantity of
water 15
1 1g ' 2) 3g
3) 6g ' 4) 18g
Osmotic pressure observed when benzeic acid is dissolved in benzene is less than that
expected from theoretical considerations. This is because :
1) benzoic acid is an organic solute

2) benzeic acid has higher molar mass than benzene e
3) beneoig acid gets associated in benzena
4) bengzoic acid gets dissociated in benzens

35. [For a reaction to be spontaneous at all temperatures

1} AG and AH should be negative 2). AG and A H should be ;.:usil.i_ve

3) AG = AS =0 4 AH <AG

{Space for Rough Work)'
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Which of the following electrolyte will have minximum floeculation value for F‘el,’{}u':':l3 sol, P
1) NaCt ' 2) NS
3t (NH ), PO, 4 K80,
37, Fora rc:r-er!;:ihlr‘_r reaction : ng] '2‘31”[5} ;'-23{5}
AH =-40kJ the standard entropies of X, ¥ and Z are 60, 40 and 50 JK" mol ™ respectively.
The temperature at which the above reaction attains equilibrium is about
1) 400K . S 2) 500K
3) 273K 4) 313K
38. 'The radii of Na* and CI- ions are 95 pm and 181 pm respectively. The edge length of Ne(l
Y unit eell is
1} 276 pm : 2} 138 pm o
3) 552 pm 4) 415 pm
39. Inductive effect invalves _
1) displacement of o electrons . 2) _delocalisation of = electrons
31 deloealisation of & electrons 4) displacement of 7 electrons
40.  The basicity of aniline is less than that of eyclohexylamine. This is due to
1 + R effect of - NH,, group 2y -1 effect of - NH, group
3) - R effect of - NH, group 4} hyperconjugation effect
W, (Space for Rough Work)
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41. - Methyl bromide is converted into ethane by heating it in ether medium with

1 Al 2) Zn

3 Na ' 4 Cu
42, Which of the fu!ll:rw;ng compound is expected to be optically active 7

1) (CH;),CH CHO ' ) CH3CH,CH;CHO

3y CHyCH,CHBr CHO - ) 4) (H;CH,CBry CHO
43. Which cycioalkane has the lowest heat of combustion per CH, group ?

1} gyclopropane : 2 eyclobutane

) eyclopentane i A4) _gyciuhﬂ_xane
44. The catalyst used in the preparation of an alkyl chloride by the action of dry HCI on an

alephol iz . '

1} anhydrous AW 2) FeCl, )

3) anhydrous ZnCl, 41 Cu
45. Inthe reél.ct._inn . o _

R —X%A%B, .
_the product B is z
- 1) alkyl chloride 2y aldehyde
%) carboxylic acid : 4) ketone
(Space for Rough World)
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12 I A-l

46. Which afll-ue following compound would not evolve CO, when treated with NaHCG solution ?
1} ﬂallﬂjfill: acid- | phenul
3) henza_u.r: acid 4)  4-mitre benzoic acid
47. By heating phenol with chloroform in alkali, it is converted intg
1} salicylic acid 2) . salicylaldehyde
3) anisole ' . 4} phenyl benzoate

48, When a mixture of caleium I:nenzoata and caleium acetate is dr;.r distilled, the resulting

compound is .
1) - acetophenone . 2 benzaldehyde
3 benzophenone 4) acetaldehyde

49.  Which of the following does not give benzoic agid on hydrolysis ?
1) phenyl cyanide . . 2) h'enmj.rl chloride
) benzyl chloride { 4. methyl hen:auate :
- 50, W‘!uch of the fu]!uwmg would undergo Hoffmann reactioh to give a primary amine ?

(¢]
1 .
1) R-C-CI 2) RCONHCH,4 ¢
3)  RCONH, 4 RCoor ;

(Bpace for Rough Work)
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51.... Glucose contains in addition to aldehyde group
1) one secondary OH and four primary OH groups
%) one primary OH and four secondary OH groups
3) two primary OH and three secondary OH groups
~ 4) three primary (H and two secondary OH groups

52 A distinctive and characteristic functional group of fats is %
1} a peptide group - .. 2) an ester group
3) an aleoholic group 4) aketonic group
53. At pH = 4 glycine exists as
+ : “#
1) HyN-CHy-COO" 2) HyN-CH;-COOH
I : . i
3} HuN -CHg - COOH 4} HyN -CH, -COO™
54. Insulin regulates the metabolism of
1} minerals 2} - amine acids
3 glucose 4) vitaminz
55. The formula mass of Mohr's salt is 392. The iron present initis oxidised by KMn 0, in acid
medium. The equivalent mass of Mohr's saltis
1y 392 ‘ 2) 316 2
5 278 . 4) 156
5 " (Space for Rough Work)
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56. The brown ring test for nitrates depends on
1} the reduction of nitrate to nitric oxide
2} oxidation of nitrie oxide to nitrogén dioxide
3) reduction of ferrous sulphate toiron
4} oxidising acti on of sulphurie acid

57.  Acrolein test is positive for

1} polysaccharides 2} proteins
41 oils and fats 4) reducing Sugérs
58.  An organic compound which produces a bluish green coloured flame on heating in presence
of capper is ’ _ ; : i
1) chlorobenzene 23 benzaldghyde
3) aniline : 4j benzoic acid

89, For :-a reaction A + B — '+ [ if the concentration of A is doubled without altering the
concentration of B, the rate gets doubled. If the concentration of B is increased by
nine times without altering the concentration of A, the rate gets tripled. The order of

the reaction is
1) 2 ; 1
3 : 4
] 3 4) -".;T

60. Which of the following solutions will exhibit highest boiling point ?
- 1) 001 MNeSO, 2) 0.01MENO, -
-y . I

3 0.015 M urea 4) 0015 M _glumae{aﬂ

ing)

(Space for Rough Work)
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